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¥
Full Marks : 100
Pass Marks : 30
“Time : Three hours
The figures in the margin indicate full marks
for the questions.
Q. No. 1 (a-j) carries’1 Jizr{rk each _ ©1x10 = 10
Q. Nos. 2-13 carnj 4 marks each - 4x12 = 43
| Q. Nos. '14-Zd carry 6 marks each '  6x7 = 42

Total = 100"
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1. Answer the following questions : ; 1x10=10

Oog 2AIRY Te fEa

(@ Let A={x:1<x<10,x isanodd'naturalnumber} and
‘Bz{y : 90<y <100,y is a prime number}.

Write the number of relations from A to B. 1

HNTA A={x:1<x<10, x 90 S FOIRF MY } TS
B={y: 90<y<100, y @B Ghfers Ry } |
A T 5[l Bt @A T WA B
(b) Write down the range of f(x)=cot™ x. | « o
f(x)=cot™! x TE=I T I |
(c) Find all the positive values of 2x2 determinants whose entries
are from the set {-1,0,1}. CaAap : 1

7ZfS {—1, 0,1} Gl A 5ifd® 2x2 ARG STl 4RI T
 fafa == |

(d) Let A be a skew-symmetric matrix of odd order. Write the

value of | A|. | - ' - 1

@ TA A 9B LA WA R S e | |A| T 59 T
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(e) Let A be a matrix of order 3, such that |A|=-9. Find the

value of I— 3 A"‘1 ' 1

W?ﬁAQﬁT3WCﬁWﬂ’G |Al=-91 |-3 A T W AT
9l - . ° |

' - L dy
If 2*=3Y, then find —=.
() en fin

qm 2% =3Y, (o -%.ﬁ@?ﬁﬂ

(g) Evaluate J 2x f'(x?)dx.

J‘Qxf’(xz)dx fefa =1

(h) Find the order and degree of the differenfial equation

d2 d 3 :
S-7(F) veu-o. - n

42 3 : , . '
.d y—7(d—y) +6y =0 SFFE AARPT T F o [{efy =1 |
a2 \ax - _ .
(i)  Write the interval in which the function f(x)=cosx is étrictly
decreasing. 1
f(x) = cos x TETH (FIFCH TEIETS FOS A 2 |
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() Write the equation of the plane passing through (a, b, ¢) and

parallel to xy-plane. : 1

(a,b,c) R TEE @R WS xy- TR TGN 2l TSI
P NIEE ORI

2. Let the mapping f(x)=ax+b, a>0, maps [-1,1] onto [0, 2];

show that cot(cot™'7 +cot™! 8 +cot ™18 )= f(2). 4

@ TAT f(x)=ax+b, a>0 WS [—1, 1] T o= efoBa =z [0, 2];

a3, cot(cot™7 +cot™ 8 +cot™'18)= f(2).

OR / G2qt

Find the value of

cos'lx'+cos“1{%(x+ 3 l—xzj}, %stl.

cos'1x+cos__l{?12-'(x+ 3v1-x? )},

W [T =01

3. Let f:R—)R is defined by f(x)=3x-2

xX+2
3

Show that f-g=g-f. | ‘ - 4

and g:R — R is defined by g(x)=

29T MATH , [4]



PTA f:RH>R T f(x)=3x-2 ﬁﬂi@ﬁﬁﬁime g:R > R ?r:"
X+ 2 !
3

g(x) = @ WETT 9w

“ysl @, frg=g-f.

" 4. Show that

a-b-c - 2a 2a
20 b-c-a 2b |=(a+b+c)? 4
2¢  2¢ c-a-b :
Tedl (F,
a-b-c 2a 2a
2b b-c-a 2b |=(a+b+c)?
2c 2c c—-a-b
OR/&3ql

Without expanding show that
(a* +a™* )2 (a* —a~* )2 2]
(b*+b™)* (b*-b=*)* 2|=0

(c“‘+c"‘)2 (c"—c"‘)2 2

- KR 7110 oy @,
(a"+a"":)2 (a"—a"‘)2 2
(p*+bp*)* (b*-b>)* 2|=0

(c* +c7* )2 (c*-c* )2 2
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5. Show thaf the function f defined by

f(x)=|1-x+]|x]||, xeR is a continuous function. 4

@Yeq @, f(x)=|1-x+|x||, xeR & BTG T f, a5y o=
T | | |

OR /5dl

Discuss the app-licability of Rolle’s theorem to the function

f)=x*+1 on [-2,2].

e f(x) = X% +1, TG [-2,2] © T TAAMT AT SO F

6. If y=ve'™, find %—. - } .4

ifﬁy=\/e&,m—3—i fRef < |

1 afl T—2ae
7. If y=—cos 1, x=20,
=3 [.1+4x3)

dy
— _ _ : 4
find e * "

29T MATH o [6]



" OR /w43t

Determine the set of all points where the function f(x)=x|x]| is
differentiable. | : a -

e f(x)= x| x| SRER @A PR S R a1

1-[ 1—=x J ' '
2 Lo e
X\ V1-x2 | %

<

8. Evaluate I

| ek de 3 W9 [T 30

BHC =

OR/ w2l

cos8x +1 dx
tan2x —-cot2x

Evaluate I

cos8x+1 -
I dx 3 3= g =111
tan2x —cot2x

; 2 -
9. Evaluate I; E%%)gdx g ? 4
: +x“ ,

2 :
2 g 3w Rl L
° (3+x2) » o
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OR / @33t

2 1
Evaluate S e %
I% 1++Jtanx

f,;/?’l—rf:dx I W [T =411
6

tan x

10. Solve the differential equation | 4

dy 2
x—= +2y=x“logx
7 y g

@ d V
SEFE ARSI xa-ii+2y=leogx ALY

11. If y=3cos (logx)+4sin(logx),

d’y _dy
2

th X + X +
show that =) o

y=0. T 4

I y =3cos ('logx) +4sin(logx), |

_ 2 )
med 3, x4 ny+x%x‘y—+y=o|

2

12. If =61 +8j éuqld b = 3]+ 4k then determine the vector component

of @ along b. : C | 4

M G=6]+8] ® b=3]+4k (0T b I a I (531 Topied Refy =

29T MATH 18]



OR /w37

Find a unit vector perpendicular to each of ‘the vectors d@+b and - -

G-b, where &:éf-ﬁQj#QlE and E‘=f+éj—215-

G=3{+2j+2k, b=1+2j-2k (BB G@+b TF" G — b AL (ST 8*FT®

Y (R 9T (O3] [T 10

13. A natural number is selected. ‘at random from the set

A={x: 15x$50}'. Find the probability such that the number

)

satisfies .the inequation x2? -13x<30.

4

TS A={x:1<x<50} T *< IHT O GBI TSIEFS ey F[L5H
ﬁi’mmﬂnﬁmwmﬂﬁmq x2 -13x <30 WA I} FSIES! Al

e
B}
-0 Qtan-?—

14. If A= Y 2 | then
. : tan— 0
2

; cosa -sina
show that I+ A=(I-A) s
sina cosa

where I is the identity matrix of order 2.-

29T MATH - - 191
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mysdl @, I_+'A = (I—A)[

cosa. —Siha
- ?
sina cosa

TS [9B 2 AR GFF G |

OR /G4t

"1 2 -3

If A=|{2 3 ) , then ﬁnd'A'l;_ and hence sol%re the

| 3 -3 -4 |

system of equations -

x+2y—-3z=-4
2x+3y+2z=2
3x-3y-4z=11
1 2 -3 '
WMoazl2 3 2| % A Rl WIS

| 3 -3 -4 |

FER Aw (S

x+2y—-3z=-4
2x+3y+2z=2
3x-3y—-4z=11

AIIG 1 |
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15. Form the differential equation satisfied by (x- a) +(y-b)?=r?

- where- a and b are arbitrary constants. _ 6

(x—a)? +(y b) _rzﬂﬁwcfﬁﬁwmwwﬁwcrmw TS q IS
b oz 4 |

OR / 94}

Find the maximum and minimum values of the function

f(x)=x+sin2x on [0, 2r ].

[0, 27 | TGS [f(x) = X + Sin2x TR HA® W ﬂ?ﬁﬂmﬁq‘%
391 '

-16. Prove that the area of a right angled triangle of a given hypotenuse

~ is maximum when the triangle is isosceles. : 6

'_mqwmmhﬁﬁﬁﬂmwﬁﬁ—mwﬁwvam
MWRI

OR /24T

Find the area of the smaller portion enclosed by the curves

x2+y?=9 and y*=8x,

x?2+y?=9 9" Yy’ =8x T2 MG TS RN P A == |
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17. Find the shortest distance _betweeﬁ the lines

18.

F=6i+2j+2k+4(i-2j+2Kk)

and F=-4i-k+u(@Bi-2j-2k). = . | | &

F=6i+2j+2k+ A (I-2j+2k) W% 7F=-4i-Kk+u(BI-2]-2%)

TolER o) AR @9 R4y w41

OR / &%

Find the equations of two lines through the origin which intersect

‘thelin'e x-3 o B 3 =2 at i

2 1 1 8

WWW@W’C;’ y13_%¢—«n@a¢ C?WT_CEWW@?IT

maﬁw@ fRefa =1

- Prove that (&—5)x(d+5)=2(&x5). Hence find the area of the

parallelogram whose diagonals are the vectors

3i+j-2k and {-3j+4k. . 6

29T MATH =~ - © o [12]



el w11 (T (G- b )x(G+b)=2{dxb)| GO (] 37+ -2k W
i —3j+a4k = RFE s i [y =i

OR / 9123}

Find the vector equation of the line passing through (1, 2, 3) and

parallel to the planes 7.(i-j+2k)=5 'ar;d‘ F.(3i+j+k)=6.

(L 2,3) R¥a e =Kz @kt o 7. (i -j+2k)=5 I

7 (3i+]+k)=6 TNOR FAGAE @UR (ST AN el =t

19. Solve the linear programming problem graphic’_ailly. 6

Wﬁmmwh%mﬁzmmmﬁeml

Maximize z =20x+15y, subject to the conditions

2x+y <200, |
x+y <150 and x2>0, y=0.

z =20x+15y I XD I Hlened
TS, o
2x+y <200, .
x+y <150 9% x>0, y=20 | )
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OR / 5241

Maximize and minimize
z =5x + 2y, subject to the conditions,

x=-2y<2,
3x+2y <12,
-3x+2y<3 and x20, y=20.

Zz=5x+2y I JE® W FEEE I Sfeea
e

 x-2y<2,

3x+2y <12,

—3x+2y<3 Wﬁ?x>0 y>0|

20. Two numbers are selected at random from a set of ﬁr.st 90 natural
numbers. Find the probability that the product of randomly selected

numbers is divisible by 3. : ' ' 6

=3 90B! IR FRAYW #2051 FRA WS Ko w1 L1 | el
fffon =1 1A IR wawe 3@ Reowy @Re Feikel [Ada w1

OR / &4r

In a 3x3 matrix, entries aq; are selected randomly from the digits
. 0,1,2,3, 4,5, 6, 7, 8 9 with replacement where each element a;
is a three digit number. Find the probability that each element in

each row is divisible by 15. -

29T MATH [14]



@51 3x3 VAR TP (PR a;F 930, 1,2, 3,4, 5,6, 7, 8,93
a1 7RIere RpRe AT Fiba #1 tar, 10 Ao a;; «Bl ol o wike
/R | erers <SR 2t GTa 151 Rerey @R it Wy w1
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Total number of printed pages - 8

29T-POSC
2019
POLITICAL SCIENCE
Full Marks : 100 “
Pass Marks : 30
Time : Three hours
The figures in the margin indicate full marks
for the questions.
Part A (3 -9)
Q. No. 1 (a~f) carries 1 mark each - 1x6 = 6
Q. Nos. 2-7 carry 2 marks each 2x6 =12
Q. Nos. 8-12 carry 4 marks each . I 4x5 = 20
Q. Nos. 13 & .14 carry 6 marks each 6x2 =12
' ' Total = 50 *
Part B (¥ -92¢)
Q. No. 15 (a ~ f) carries 1 mark each . - 1x6= 6
Q. Nos. 16 - 21 carry 2 marks each | 2x6 = 12
Q. Nos. 22 =26 carry 4 marks each ‘ & 4x5 = 20
Q. Nos. 27 & 28 carry 6 n_zarkg each 6x2 = 12
; ' Total = 50

Total (Part A & B): 50+ 50 =100
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©

(d)

(e)

PART-A / F-*l
( Contemporary World Politics )

(ST [ qemite )
Write the full form of SEATO. 1
SEATO I 7= Foith! forait |
The collapse of which country is known as the collapse of “Second
World” ? X " %
(IR AT sfore “TSt [i7g fow fiﬂ@ ARLR
First Gulf War is also known as Operatlon Desert Storm. 1

(Write “yes” or 'no’)
amﬁﬂmﬁawwﬁammﬁ@wwwwwwﬁw

Agra Summit took place between India and Pakistan. Write the name
of the Indian Prime Minister who participated in the Summit. = 1

Wﬁ%ﬁﬁlﬁﬂ@ﬁ—wwﬁ@mwwﬁrtﬁ%lﬁ%wﬁm—
w\ﬁmwﬁﬁm@wmmn

Rio Summit approved a developmental programme named

."Agenda—21’ N ST (Wrzte yes’ or no)

'ﬁwﬁﬁmmawfiﬁqs WWWWW|

29T POSC

1

(R & 77 fF311)

The World Council of Indigenous People was formed i

n the year-‘
1974/1975/1976.

(Choose the Correct Answer)

Rergiat ewpraae foyfan TOT TR 5398/ 359¢/ snau 59 |

(5% Somdy a1 Gaay)
[ |



- 10.

L1.

Mention two reforms Mikhail Gorbachev initiated in the Soviet Union.
2

frrze oire @fewt 2ok wrs w4t e 7 S w4

Mention two areas of conflict between India and Bangladesh._ 2 s
RO % AR AT AT 75 (Fg S 41 |

- Write the name of two conflicting communities of Sri Lanka. 2

RS A0S & @11 STemy 757 7 By |

Write the name of two non-gbvemmental organisations which a‘re concerned
with Protechon .of Human nghts all over the world. 2

,-Wﬁﬁm—mwrwwwww zﬁ‘r@wﬁwﬂmmml

Write fwo distinctions between migrants and refugees. 2
AgERIRI i =R A 707 A fr
In which year was Kyoto Protocol signed ? The Protocol dealt with which
problem of the environment ? 2
C R W@mm—mwﬁ‘ﬁi—ﬁ wigf“@vfﬁ@'ﬁ@mmwtﬂrﬁﬁ:— |
. e 2
Discuss briefly about the new International Econorr\iic Order. 4

T SEEies Stes YRR KA Y Sl o<

. What 9/11 indicates in world politics ? Discuss briefly. ‘ 4

oy TS 5/ G T TR 2 T e S
Discuss briefly the functions of the World Bank. Vo 4

R @:ﬂ@fﬂﬁﬁ{imww'

Discuss br1ef1y about the components of the Secunty Strategy of India.
: 4

S W@WWWWE“C””W‘
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12. Discuss about the cultural consequences of globalization. 4

R Aicglor RS o REw weEeAt <)
18 .Why did Soviet Union disintegrate ? Discuss elaborately. s 6
oSt BoRTN 0 2ol (e ¢ R S 34 |
Or/ 9dqt

[

Discuss elaborately the U.S. hegemony as an Economic Super Power. 6

wWWWWWWWﬁWWWl |

14. What are the main pillars of ASEAN ? Discuss elaborately. - 6
ASEANT ¥ ¥ (20! & fF ¢ femeita sieeimeat w4t | '

Or/ gt

Discuss the rise of China as an Economic Power. | . ' 6

Heftafes «ifS e Sl BN wiEna T/ 1

PART-B / -1t

( Politics in India since Independence )

( TSI ©IFeq TS )
15. (@) Write the full form of NND.A. - - 1
N.D:A 3 7= Foilht v
(b)) Write the name of the party that won the second largest number of
Lok Sabha seats in the First General Election of India. 1
©iFeq B! At FEETS TSR B g WYS APHS TS T
WO A fer | |

29T POSC [4]



17.

18.

19,

N 7T (R APTS T 99 mﬁcﬁ:ﬁwﬁzﬁmﬁmm ?
29T POSC |

(c) In which year Election Commission started using E.V.M ? 1

5w Sicas (@ 929 E.V.M I I[3R SRS SRR ¢

(d Who was the Prime Minister of the coalition government of 1989 ?
- .

Sobd B TRYE HITIE UG (B NIfRe ?
(¢) The Government of India appointed Mandal Commission in the year

(Fill in the blank)

1
OO B TG SIS e Ry | (ﬂfﬁ?ﬁe{%’#aﬁr)
()  Write one feature of New Economic Policy of Indla &

| SRed WA wﬁﬂ%ﬁ’rﬁ ‘ﬂﬁhﬁ@]%ﬂn

‘When was Bharatiya Jana Sangha formed ? Who was the founder President

of Jana Sangha ? " ' 2

. ST TR R 15 T ¢ SRS G 2ot Tt i SR 2

On which date was the draft of the Indian Constitution signed and when
it came into force ? 2

N N . S b ST

Write two reasons responsible for growing importance of regional Political
Parties in Indian Politics. : 2

@ﬁaﬁ%wmﬁamﬁm@wqﬂﬁ iﬁraﬂmml

Which two union territories were given’ the status of statehood in 1972 ?
' 2

[5] - Contd.



20.

21,

24.

20.

26.
- WWW@WWWWWW|

27

29T POSC _ [6]

Write any two causes of conflict between India and Pakistan. 2

OIS WiF ARFENI e TSI RKeFeal 767 IRe fov2dt |

Give two suggestions to curb communalism in India. 2

SReIFS ArMIiFoRM ([T AE 70! s fwa |

Discuss briefly about the challenges faced by Ind1a 1mmed1ately after
independence. 4

WWWWW{%WWWWWW;

Discuss briefly about defection in the Party System of India. 4

'Wﬁﬁﬂwﬁa@mﬁmmwwy

Why dld India adopt the policy of non- allgnment ? Discuss brleﬂy 4
@ﬁrﬁw cﬂﬁﬁ«%ﬁﬁmw ? BYL SACEBT F1-

Write the main objectives of the National Pohcy for the Empowerment of
Women, 2001. 4 .

ioosamﬂﬁmqa@ﬂﬁﬁﬁ ﬁm@tmﬂ{o:ml

Discuss briefly about the initiatives taken by Janata government. 4

Discuss the role of Planning Commission in India. Write the name of the- "
organization which has replaced the Planning Commission. 5+1=6

WWWNWWWIWWNWW% |
piorzcio G
Or/GTQI?T

Discuss the main controver51es around planned development in early years
of India’s independence. 6

Wﬁ%ﬁawﬁrmﬁ—wmw mwﬁww
Salll



28. Discuss the consequences of National Emergency declared. on 25th June,
1975. 6

559¢ B9 ¢ GO (HIF I WO T SRZR AARefAZ AT 34 |
Or /g2

Discuss elaborately about the Secessionist Movements of North-East India.
' 6
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